Ejemplo de Estructura base de HTML5

<IDOCTYPE html>
<html lang="es">
<head>
<meta charset="UTF-8">
<link rel="stylesheet" type="text/css" href="#" />
<meta name="viewport" content="width=device-width, initial-scale=1.0">
<title>Plantilla HTML5 Bdsica</title>
<style>
body {
font-family: Arial, sans-serif;
background-color: #7f8171;
margin: 5px;
padding: 5px;
border: 2px solid rgh(250, 216, 216);
padding-bottom: 10px;
color: hsl(239, 79%, 53%);
}
h1 {
text-align: center;
}
a{
font-size: 1.5em;
margin: 0 4%;
color: #edf798;
}
header {
background-color: #b6944b;
padding: 10px;
text-align: center;
border-bottom: 2px inset;
}
nav {
background-color: #795508;
color: #{FffT;
padding: 5px;
text-align: center;
}
section {
padding: 10px;
background-color: #76c27e;
float: left;
height: 100%;
width: 58%;
padding: 20px;
margin: 5px;
text-align: center;

border: 1px inset rgb(9, 238, 123);



footer {
background-color: #333;
color: #fff;
padding: 10px;
text-align: center;
clear: both;

}

aside {

background-color: #fa4444;

padding: 20px;
margin: 5px;
float: left;
clear: both;
width: 25%;
text-align: center;
height: 100%;

}

article {
background-color: #f9f9f9;
border: 1px solid #ccc;
padding: 10px;
margin: 20px;

</style>
</head>
<body>
<h1>body</h1>
<header>
<h2>header</h2>
</header>
<nav>
<a href="#">enlace 1</a> |
<a href="#">enlace 2</a> |
<a href="#">enlace 3</a>
</nav>
<aside>
<h2>aside</h2>
</aside>
<section>
<h2>section</h2>
<article>
<h2>article</h2>
</article>
</section>
<footer>
<h2>&copy;&nbsp;footer</h2>
</footer>
</body>
</html>



RESULTADO:

enlace 1 enlace 2 enlace 3

EJERCICIO: Prueba el cédigo en tu navegador web



